TECHNICAL DATA SHEET

3 SCREW HEX-120 M12 76x800

BASIC INFO

Weighl 4‘2 kg +3% -8% tolerance

Hot-dip galvanized Steel,
Surfaca according to DIN EN ISO 1461

Intended Use Lumber, board, batten fixing

800%,

300+20(6x50)

?7_

6x011
P
R
/ 0
-y
N 7
: 28 /
s
0116
(136.7)

info@obchodprodilnu.cz  tel.: 387 414 008



TECHNICAL DATA SHEET

B3l scrEw HEX-120 M12 76x1050

BASIC INFO
WEIth 516 kg +3% -8% tolerance

Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461

Intended Use Lumber, board, batten fixing

info@obchodprodilnu.cz  tel.: 387 414 008



TECHNICAL DATA SHEET

B3l scrREw HEX-120 M12 76x1250

BASIC INFO
WEIth 8,9 kg +3% -8% tolerance

Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461

Intended Use Lumber, board, batten fixing

\ ) r

\ / ©76.1x3,6
-G

2116

(136.7)

info@obchodprodilnu.cz  tel.: 387 414 008



TECHNICAL DATA SHEET

H SCREW HEX-160 M16 76x1550

BASIC INFO
Article No. 56214
Welght 11,95 kg +3% -8% tolerance
Tube 76 x 3,6 x 1500 mm
Materials Flange 8 x 160 x 184,7
Steel S235
Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461
INSTALLATION MAST — HULK
+ drilling head PLATE MULTI
Installation
PILE DRIVER MACHINE — DINO
+ drilling head PLATE MULTI
Intended Use Lumber, board, batten fixing
Anchoring 1 x screw M16

160

076.1x3,6

(184.7)

850:20(17x50)

info@obchodprodilnu.cz  tel.: 387 414 008



TECHNICAL DATA SHEET

ﬂ SCREW HEX-160 M16 76x2050

BASIC INFO
Article No. 56215
Welght 15,5 kg +3% -8% tolerance
Tube 76 x 3,6 x 2000 mm
Materials Flange 8 x 160 x 184,7
Steel S235
Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461
INSTALLATION MAST — HULK
+ drilling head PLATE MULTI
Installation
PILE DRIVER MACHINE — DINO
+ drilling head PLATE MULTI
Intended Use Lumber, board, batten fixing
Anchoring 1 x screw M16

160

©76.1x3,6

20589,

nnnnnnnnnnnnnnnnn

vvvvvvvvvvvvvvvvv

info@obchodprodilnu.cz  tel.: 387 414 008



TECHNICAL DATA SHEET

ﬂ SCREW HEX-160 M16 89x2050

BASIC INFO
Article No. 56225
Welght 17,85 kg +3% -8% tolerance
Tube 89 x 3,6 x 2000 mm
Materials Flange 8 x 160 x 184,7
Steel S235
Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461
INSTALLATION MAST — HULK
+ drilling head PLATE MULTI
Installation

Intended Use

Anchoring

PILE DRIVER MACHINE - DINO
+ drilling head PLATE MULTI

Lumber, board, batten fixing

1 x screw M16

\
g I
3 Aﬁg e
i .
i |
—— |
®150 .
(184.7) »89x3,6
B 2058%, _

1100 £20(22x50)

nnnnnnnnnnnnnnn

vvvvvvvvvvvvv

info@obchodprodilnu.cz  tel.: 387 414 008



TECHNICAL DATA SHEET

ﬂ SCREW HEX-200 M24 114x2010 W

BASIC INFO
Article No. 56235
WE|ght 20,5 kg +3% -8% tolerance
Tube 114 x 3,6 x 1200 mm
. Tube 76,1 x 3,6 x 750 mm
LD Flange 10 x 200 x 226,3
Steel $235
Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461
INSTALLATION MAST — HULK
+ drilling head PLATE MULTI
Installation
PILE DRIVER MACHINE - DINO
+ drilling head PLATE MULTI
Intended Use Lumber, board, batten fixing
Anchoring 1 x screw M24

©
226.3

20x50=1000

1200

10,

i ﬁ_

©114x3,6

2010%,

info@obchodprodilnu.cz

tel.: 387 414 008




TECHNICAL DATA SHEET

ﬂ SCREW HEX-200 M24 140x2010 W

BASIC INFO
Article No. 56245
Welght 22,4 kg +3% -8% tolerance
Tube 114 x 3,6 x 1200 mm
. Tube 76,1 x 3,6 x 750 mm
LD Flange 10 x 200 x 226,3
Steel $235
Hot-dip galvanized Steel,
Surface according to DIN EN ISO 1461
INSTALLATION MAST — HULK
+ drilling head PLATE MULTI
Installation
PILE DRIVER MACHINE - DINO
+ drilling head PLATE MULTI
Intended Use Lumber, board, batten fixing
Anchoring 1 x screw M24

TNy

10} [0 ®©

o

226.3

20x50=1000

T
T
T
T
T
T

|

|

|

|

|

|

<

=
I

10

1200

b ©76.1x3,6

©139.7x3,6

info@obchodprodilnu.cz  tel.: 387 414 008



